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N.B. : (1) ._Attempt any four questtons. Each questlon is of 20 marks. - 0 r PR
(2) Question number 1 is compulsory. N
(3) Scientific calculator can be used. | | s -f' ’
* (4) -Appropriate Statistical Tables can be used. __L.gf\‘k
\ ' i
{'eWhat 1S the chance that 35
(1) 2 leap year selected at random: wilj &ontain 53 Sundas ¥$? _"531" 3 %
() a non leap year selected at random WII' contain 53 Sundhys / '
- () November will have 5 Sundavs‘? ) @ 0
~(b) Given the normally distributed population with a mean of T‘and chl'la"lce 5 <
of 625 Find: . "/ o
' \‘A//’ (1) P(SO <X S 100) | | A ..,'-;f?\ |
(11) p(x > 90) 4 H\,O
) (w):  p(x <60) * ' 'i-il : .
(c) Ahe following table shows the number of h ifs 45 hospltal patlents slept 5~ %
. fqliowing the adrgjgistrati on of a certain a@sthetlc. g = - "
S - S - X os e 4 5/
LN S VI @ LS8 A B ‘ -
F or these data convtruct a cumuifatwe frequency dlstnbutlon, a relatwe ﬁequency B ?71%‘

. stribution, a cumulatw@/relatwe frequency distribution and a lustogram. gk
y}/; rom-a group of 8 chdﬁfen 5 boys and 3 gu‘ls three chlldren are selected 57 i

..at. random. -~ - n‘v

- Calculate the probablhtles lhat the selected grOUp Contams |
- (1) no gurl, (1) ehfy one girl and (iii) oné particular girl. 51U U,

o2

——

pe> ] 5’5—‘" .00k anr

2. (@), Mathers et “al. found that a sample of 591 admitted to a psychlatnc hospital, ¢ @
04 adﬂtted to using cannabis at least once in their lifetime. We wishto °

cons,fmct a 95% confidence interval for the proportion-of lifetime cannabis \

mﬂm in the sampled populahon of psychiatric hospital admissions.
,*.-'.‘Wo indeperident- samples of sizes 8 soldiers and 6 sailors contained the {‘/

_""

- following values :- ‘ ,5}/ 7 ;
| - Mean Height sd o q’_f/ q{(\, .
Soldiers 166.9cms 8.29 (ol ([
~ Sailors 170.3cms 8.5
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2”:".”'_; R : al:-code . 128101
“Based on this data can we conclude that: S‘ﬂdvm are Shorte" fhan sailOES (
5% 1.OS. Also find the 99% conﬁdence inferval for 1hc test statistic used.

A simple random-sample of 10 peOple frozra-certain pﬁpmat*on has a mean

1

A
39,6 of27. Can we conclude that the meéan agc of thé popLIatron 1S not 307? |
(V ; 6 ) The variance is known to be 20.

n=©0 T
Let oo = 0 .05. X AT, T ee ‘:_i;_f?'
... | T Ve
3 (@) Ihe distribution function of a random variable X is given by §
B (0=i-0-Xet X2 0 R
Fund the mean variance and density fU'lCllon of X "
() Exp ‘a}q the following terms: - - | 3 g !
i hi- Square Distribution arid its ptoperncs B
(i7) Test o' 200dness of Fit | | b{‘-
(i) Corelatiop and chre<'31on_ e~
(Gv)  Central Limit1ne20Tem M N
(c) From the following tabie show . Ng age of cars Ofa-tertain make and anny;|
maintenance costs, obtain the lines f regressmif' Also find the Fhproximate
-cost of mainianing a 3 jeam _ _ .
\Agcofcarr' | 4 Y6 -
%. | (vears) |
. {Annual Maintenaxce
b Cost (Rs)
4. (a) Lan we conclude that c,hromtally 1llchndren tf:nd., on the average W - IS8 Q
se)f-confident than bealthy, cmld_r

! | ]
en? A test designed to measuge self-confidel®e . -
- was administered to 16réjaromcally ill.and 21

healthy chﬂdren The mean scores
¢, and standard dewahhﬂs WETE as. follews
#7 -

| . . . Sample mean SamBle Vananée-‘;z-}l o o
@ [!l]ncss_Groun,:f;-}'- N - \

| 225 41 %
I well Group.-= 269 i ERE v R T
?f "‘-'%';-U.'OS'- \ ; 5
lowing table oives for a sample of married women, the lave] of ¢ ducation 8
marriage admst‘nent SCOre * . A
‘.:__ el -Mﬁma:giAdjustﬁents * Ry
A A T Veyifigh = .
. 7 62 g =W
| '{3 il 30 4]
R = I 2()
&= - _ 4
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. 7 Can you conclude that the higher the level of education the greater i the degree
of adjustment in marriage? |

A —I--i

(c) One batch of 12 animals are glven test of inoculation. {12 ik bawh of 6

12 animals are not given test of inoculation. The number of d.: ;1 2+ "9;:-“-'-' ;f._?.;j;'- |
~ animals are given in the following table. Can the lnoculaum*.: C o oparded o

d\d".ﬂ effective 3831118t the disease at 3% level of significance 7 i G _' o 7

Dead - Surviving M = D—',-l_n;_-—?i;
Inoculated 2, . 10 - f
Not inoculation - - g 4
\ - | g . ol
@ Transverse Transverse diamefer measurements on the-nearts ¢ aduli males @
and females gavc the 6 followmg results: . W - ol
| Group | Sample Size ] Sample Mean(cm) | Samplg Standard Uurﬂ'un.
Males 12 1321 A% Les T
Femaies 8 ) 11.0 O sz 10[ ]
§ Lﬁ\ e

Assummg normally dxstnbutﬁd populat:ons E—}th equal variasces. € unamzu..
the 90 9“ and 99% conﬁde[ﬁ:e mtervals gm; Y. -

el . e
-g -

here ane’ o' three main brands of powqg? A set of its 120 sales is uxam.nbu- g .
“~and. found to be allocated among é&u groups A, B, C, D and bfand names

I, IH and I as. Shown 10 tab]e: 1.\. .

| ji‘ Groups _ --_-_-_ K
Brand 1 ,:%::_“A N B | C r_;_ v ’ i
I %" 0 4 |8 5] -
1 & s | & 1Bl s
m. . gl 18 | 1B |n o3
e .

Is there any 51g*ﬁif 1cant mfferen‘ce in Brand prcfercnceb‘? Answes at 5% LOS
using one VMVA Table. (Take 10 as the ‘code »dlu..,, (G “lﬂt‘mpt -

2ll glvenwlues in your workmg)

CIVERCR/(p )005 =4.26. . CE 1T et
'ﬂma}? is of the amniolic ﬂmd from a sunplc random sainplec ¢F 13 pregnant 6

)
(// \:»Ldr?len yielded the following mcasurements on total protein

prams per 100 ml) present:
ﬁ pOa9 1.04, 0.39, 0.37,0.64, 0.73, 0.69, 1.04

xfi:? | 0.83. 1.00, 0.19, 0.61, 0.42, 0.20, 0.79
-.'.'.‘*~- | Do these data prowdc sufficient evidence to mdlcate that the 2 y.._.n..{n:afl Varance
is greater than 0 057 Let 1OS be 95%. What assumpticiis are necessary?
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b e ;‘0;11- d]ffCI'ent plant CI'OPS g'l'OWD on 10.:
The able shows the yieiC PP e ? tf'cmhzz' Test ai_'(')#f'l'évc | of significance £
lots treated with three different types O -eld per acre due to Crops. ::- b}
whether there is a significant difference. m yreid p Crond . %
Cropl | r‘ropz C"OPJ 6 ¢ O 2.3
C Fettilzra . 45 64 0 120 "r, e
¥ ~Rertilizer 8.8 7.8 9 6 ' A ;
\ o x ertilizer B _ | O |
alciy Fertilizer C 5.9 68 . “
W ertilizer
Use MMA@I_’UO de*Q)me whctfr?t treatmeﬁjeﬁ'cc ‘-mt‘?r
not. (Given: Fe,0i(3,6) = 9. 78) o L
(b) The table shows the weight Z, heights X and ages Y o£ 32 beys. 10
@  Find the linear least- squares regression equ@hon of z on x and y
()  Estimate the weight of a ooy who 15 9 ye@ and 54 mches tall.
(].1}) - Flﬂd r|2 I'|3 rf_ RO R % - -.é—:" . -___' -
Z [ 64 | 71 T 53 1 67155 . 57 | 56| 51 7_6 -
1 X 1757 | 59 | 49 | 62 |51 .. 43 42 | 61.].57
Y | 8 10 | 6 11 8 9. .... g_ 1-2 3
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